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1
A B
F 3 7 c Given: 41 = 42
t 4~y N2 o .
Prove: XF bisects 4AXE
E D
1. 41 = 42 1.
2. 41 = 44; 2.
A2 =43
3. 43 =44 3.
4. XF bisects 4AXE 4,
2

Given: 41 = %2

Prove: A3 = 44

1. 41 = 42 1.

2. 41 = 43; 2.
52 = A4

3. 43 = 44 3.
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L M K
b * . Given: M is the midpoint of LK;
- N is the midpoint of GH;
G LK = GH
N
1 Prove: MK = NH

1. M is the midpoint of LK 1.

2. MK =-LK 2.

3. N is the midpoint of GH 3.

4. NH =-GH 4.

5. LK =GH 5.

1
6. -LK = EGH 6.
7. MK =NH 7.
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4
MY Given: MN 1 NH;
p NP bisects AMNH
Prove: m#A1 = 45 and
m42 =45
1
2 LY
N oo
1. NP bisects AMNH 1.
2. m41 =2 (maMNH); 2.
m42 =~ (maMNH)
3. MN 1L NH 3.
4. maAMNH = 90 4,
5. m41 =~ (90); 5.
m42 =~ (90)
6. ma1 = 45; 6. *** MATH ***
m41 = 45
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